
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษส่วน ทศนิยม ลําดับของการดําเนินการดว้ยวงเล็บ
เหลี ยม
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1
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4
1
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× 25 ÷ 5 + 2(5 + 5.4) =
3
1 10(4.6 + 2) ÷ 2 × 3 + 3.7 =
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ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษส่วน ทศนิยม ลําดับของการดําเนินการดว้ยวงเล็บ
เหลี ยม

5.5 − 2(5.8 − 2.4) = (− ) = (−1 )
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2.3 × 8 ÷ 4 + 2( + ) = 7
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( − ) × 5 − 4.7 = (− ) = (−3 )
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(4.5 + 3.1) × 4 − = = 29
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1
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3.7 + 5( − 2.2) =
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− 5( − ) = (− ) = (−5 )
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2.2 + 4(3.2 + ) = 16
4
1

× 10 ÷ 5 − 3(4 − ) = (− ) = (−10 )
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× 25 ÷ 5 + 2(5 + 5.4) = = 22
3
1
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10(4.6 + 2) ÷ 2 × 3 + 3.7 = = 102
10
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10
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